
문제

번호
문제 보기1 보기2 보기3 보기4 정답 문제해설

1

문장의 빈칸에 들어갈 알맞은 것은?

A: Am I allowed to go to my friend's house?

B: Yes, you (    ), as long as your room is clean.

do can do so can do 2 허락을 구하는 동사 allow와 어울리는 조동사는 can이다.

2

문장의 빈칸에 들어갈 알맞은 것은?

A: I'm thinking of joining a chess club,

 but I don't know.

B: I (    ) if I were you. You're very smart.

did could would must 3

내가 너라면 ~하겠다.'라는 현재를 가정하는 가정법 과거이므로

③이 적절하다. 가능성을 나타내는 ②와 강제적 의무를 나타내는

④는 문맥에 어울리지 않는다.

3

문장의 빈칸에 들어갈 알맞은 것은?

Fifty dollars (    ) you one pair of these

sunglasses.

buy buys buying bought 2 시간, 금액, 거리를 나타내는 명사는 복수형이라도 단수로 취급한다.

4

문장의 빈칸에 들어갈 알맞은 것은?

A: Let me (    ) a chair for you.

B: I'll just stand. It's only for a while anyway.

soothe condone fetch mount 3

A:제가 의자 (갖다)  드릴게요.

B:그냥 서 있을게요. 잠깐인데요.

soothe:달래다 condone:용납하다. Fatch:가지고 오다 mount:시작하

다.

5

문장의 빈칸에 들어갈 알맞은 것은?

A: Will this wood break very easily?

B: Yes, it is (    ).

giddy gaudy brittle solid 3

A: 이 나무는 쉽게 부서질까?

B: 응, 그건 잘 (부서져).

Giddy:어지러워 gaudy:천박한 brittle:부서지기 쉬운

6

문장의 빈칸에 들어갈 알맞은 것은?

Fred was worried about his (    ) workload which

was

more than usual.

far rich long huge 4
프레드는 평상시보다 많은 (엄청난) 업무를 걱정했다.

Workload:업무량

7

문장의 빈칸에 들어갈 알맞은 것은?

A: Is this your hat sitting in the front room?

B: No, I don't know (    ) hat that is.

their theirs who's whose 4
동사 is의 보어인 명사 hat을 수식하면서 절과 절을 잇는

소유격 관계대명사가 적절하다.

8

문장의 빈칸에 들어갈 알맞은 것은?

A: Do you like pretzels?

B: Yes, but not as much as Evelyn (    ).

is like does is like 3

앞에서 언급한 동사 like를 받는 대동사를 묻는 문제이다. 주어가 3인

칭

 단수이므로 ③가 적절하다.

9
문장의 빈칸에 들어갈 알맞은 것은?

It takes a long time (    ) a doctorate degree.
get to get gotten having gotten 2

~하는 데 시간이 걸리다.'라는 의미로 <it takes+시간+to+동사원

형>을 쓴다.

Doctorate degree:박사학위

10

문장의 빈칸에 들어갈 알맞은 것은?

Some say that within q cave on the hill (    )

bears.

lives live ilving is living 2
부사구 within acave on the hill이 that절 앞에 와서 주어와 동사가

도치되고 있다. 주어는 복수 명사인 bears이므로 복수형이 알맞다.

11

문장의 빈칸에 들어갈 알맞은 것은?

The local factory (    ) to cut back on the

pollution

it creates.

was tried has tried is being tried has been tried 2

공장이 노력을 하는 것이므로 능동태인②가 맞다. 시제 문제처럼

보이지만 나머지는 모두 수동태이므로 오답이다.

Cut back on:~을 줄이다.

12

문장의 빈칸에 들어갈 알맞은 것은?

A: How long have you had your cat?

B: I've had him (    ) three years.

by for with until 2 완료 시제이므로 기간을 나타내는 전치사 for가 적절하다.

13

문장의 빈칸에 들어갈 알맞은 것은?

No one (    ) have predicted how the election

would turn on.

can shall could should 3

의미상 가능을 나타내며, 해석을 통해 if가 없는 가정법임을 알 수 있

다.

Predict:에측하다 turn on:밝혀지다

14

문장의 빈칸에 들어갈 알맞은 것은?

A: What will happen with the company,

     now that it's in financial trouble?

B: I'm (    ) to believe that the owner will sell it.

inclined decided relived alleviated 1

A: 회사가 재정적으로 어려운 지경인데 앞으로 어떻게 될까?

B: 오너가 회사를 팔 거라고 믿고 (싶어)

be inclined to~:~하고 싶어지다,~경향이 있다

15

문장의 빈칸에 들어갈 알맞은 것은?

Although the vice-president was in an awkward (

),

he managed to talk his way out of the situation.

region station location position 4

비록 부사장은 어색한 (위치)에 있었지만, 그는 교묘한 말로

상황을 모면했다.

Awkward:어색한 talk one's way out of:교묘한 말로 모면하다

16

문장의 빈칸에 들어갈 알맞은 것은?

A: Have you ever been to Germany?

B: I (    ) there a while ago, but I haven't been

back again.

go gone went have gone 3 ago는 과거시제와 함께 쓰이는 부사이므로 ③이 적절하다.

17

문장의 빈칸에 들어갈 알맞은 것은?

The (    ) man in the office was able to reach the

top shelf.

taller than being tall taller of tallest 4
빈칸 앞에 정관사가 있는 것으로 보아 최상급이 가장 적절하다.

Reach:(손이)닿다.

18

문장의 빈칸에 들어갈 알맞은 것은?

A: Can you (    ) this package to my home?

B: Yes, we can have someone bring it to you

later today.

export deliver receive provide 2
A:이걸 집으로 (배달해) 줄 수 있나요?

B:네, 오늘 늦게 사람을 시켜 갖다 드리겠습니다.

19

문장의 빈칸에 들어갈 알맞은 것은?

None of the students in the class (    ) near the

university.

has been lived had lived living lives 4 문장의 주어인 none은 단수로 취급한다.

20

문장의 빈칸에 들어갈 알맞은 것은?

If you do not water the piants regularly,

they will (    ) any dry out.

set cut wilt heat 3

정기적으로 식물에 물을 주지 않으면 (시들해져서) 말라 죽을 것이

다.

Wilt:시들다.

영문법 한방에 끝낸다! After School Grammar Step 2


